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Immediately after the commencement of the examination, you should check that this test booklet does not
have any unprinted or torn or missing pages or items, etc. If so, get it replaced by a complete test booklet.

Please note that it is the candidate’s responsibility to enconde and fill in the Roll Number carefully !
and without any omission or discrepancy at the appropriate places in the OMR answer sheet. Any :
omission/ discrepancy will render the Answer sheet liable for rejection. :
Candidates are warned not to fold or make any stray marks on the OMR Answer Sheet. Use of |
Eraser, Nail, Blade, White Fluid/Whitener etc, to smudge, scratch or damage in any manner on the OMR |
Sheet during Examination is strictly prohibited. Candidature/OMR Sheet of candidates using Eraser, Blade,
Nail or White Fluids/Whitener to smudge, scratch or damage in any manner the Answer Sheet shall be |
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IMPORTANT INSTRUCTIONS FOR CANDIDATES :
i
I
I

cancelled.

You have enter Roll Number on the test Booklet in the Box Roll Number:- [ J :
provided alongside. Do not write anything else on the test booklet. I
This test booklet contains 90 items (questions). Each item comprises four responsed (answer). You I
will select the response which you want to mark on the answer sheet. In case you feel that there is |
more than one correct response, mark the response which you consider the best. In any case, choose |

only One response for each item. )
You have to mark all your responses only on the separate Answer sheet provided. See directions in the

Answer sheet.

Each qustion has four alternative asnwers of which only one is correct. For each queation, darkeh
only one , which ever you think is the correct answer on the OMR answer sheet with only
Blue/Black Pen. Pencil should not be used for darkening the circle. If more than one circle is found
darkened, the answer will not be calculated. ‘
Correct Method Wrong Methods
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Each item carry equal marks and Nagative marking

Before you proceed to mark in the Answer sheet the response to various items in the test booklet, you
have to fill in some particulars in the Answer sheet as per instructions sent to you with your Admission
certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the invigilator only the answer sheet. You are permitted to take
away with you the test booklet.

Add:- Near By Sanjivani Hospital, Medical Mor, Rohtak
Mobile No. 8383-04-3939, 9467-00-5180
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Inflammation of Eyelid Ut d8 G&r qd q&r 4 27 P9 8

(a) Balamitis (b) Blepharitis STl B | T AT S B |
(c) Dacrocystitis (d) Chalazitis (a) 47 (b) 74
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(d)Cephan§QVsropo tion B c) o %R Dos® e
26 a9 28‘2{ B G gaeR drel 7} 16. What is the recommended flow rate of

foa foral ¥ W‘?:m IS BERTT? oxygen via nasal cannula?
(a) qFﬁqﬁ . (b) Wfrag (a) 1-4 L/min (b) 1-6 L/min
i;) :,:F@, = (d) AT (c) 4-6 L/min (d) 6-8 L/min
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(a) ThICI TSI . . Y
(b) Tl AR TTARHR (€) =ie smpeivs (d) &S B

25. Which among the following technique is used

(Z) ASKIMEINI o in physical examination?
s ( )ﬂ?; X GWI;H g (a) Inspection (b) Palpation
.U g BT 8% TP IMAT D aTbol (c) Percussion (d) All of these

T = Imad d uRfr so WM. sk 26, gfexr wfeh
e HArg @ 3 fel. it 2 g.@n mﬁwqmﬁaaﬁmvﬁ?
(a) SR (b) IrETDH

'(d) 55
e for Iron toxicity2es
(b) Dilavertin

e
21.The \%‘ccine
babies’is
(a) Me:%/

(c) DPT
22. WIRcP IF |

(a) o= (b)
(c) BETETE (d) frarh (d)g:rﬁf-\ﬁaﬁg‘q-é’i

32. The Hypofunction of the anterior pituitary

'~ 23. Full form of HTTP._
hat rarely affect the posterior lobe

(a) Hyper Text Transfer Protocol . gland t
(b) Hyper Tension Transfer Protocol leading to
(c) Hyper Text Transfer Process (a) Graves disease

(d) Hyper Text Transfer Program (b) Simmond's disease

24. A UAT BT 3iq HIA BT A fHaB) AU (c) Frohlick's syndrome
87 (d) Levi syndrome
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(a) ¥IRT (b) =T 87" . \
¢) PedT el (d) qoT=Y (a) TTRreferar & Siad €1
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35. Which of the following is caused to 27
spasm of the coronary artery
(a) Stable angina
(b) Variant angina
(c) Unstable angina._s
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%

arative form of 'Hira is as tall as
: / .
erithan Ram
%r‘(b) Ram ls\taller th aq’{lira
e (g) Ram is not ta/ n&?an lea
(d) Ram is morestaller§ han H|ra
505Choose the ii&ne which best express the
mggggﬁihgngf the given word,«=

41.Who 13 nd|
contaml%at -
(a) Louis Pa

(c) Edward Je ‘
42. AR mw ﬁmfor D WQW g -
(a) I m\ﬁ (c) 73di (d) 74ai
(b) M7 3R w%aj ITATATTR BT TeTT 53.d9® (Small Pox) B8R &T BIRUT & —
(c) Fefen Frferm (a) ®f3aiien araRE (b) ARaeT aRRE
(d) SuRTeRT Y (c) IRHem arRE (d) P AR
43. YA gRT BIT—H) AT DY TS 8? 54. Which immunity is affected by HIV infection?
(a) 3 W IRUIRD (b) S =T (a) Natural immunity  (b) Active immunity
(c) U TRATR (d) farTeT <Y AT (c) Cellular immunity  (d) Humoral immunity
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(a) TRYUTferdT ARl (b) TRUTfIERT qliqa ~ 63. Congenital absence or closure of a normal
(c) TR IGEIR:] (d) aﬁg T S

" body orifice or tubular organ is called

57. Which among the following best explams (a) Fistula (b) Atresia
passive immunity? S 4 (c) Hernia e (d) Stenosis
(a) Child receiving vaccinatidn or measles 64. The first school of; nursmg was established by
(b) Production of antlbodles in a per. (a)Vlrglnla Handerson

infection (b) Isabel Hampten vt}

(c) An infant rece (c) Florence Nughtlngale

(d)Theodor Flledner AV

(a)m ';’va" (b)f%?zrr\f
¢<c)_'..“ﬁﬂ€*nﬂr‘w’ 4w, /(d) T
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s *.66 The rad|u9|s located
i (a) In thezupper part?of the arm
(b5 C?n.the ‘thumb 5|delof the lower arm
f\ (c) On the little- f‘nger que ‘of.the lower arm

1 (d) At\the shoulder ar?1
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(2) Bufn injdly | i
(b) An%?letvﬁ{é%elio ‘patient!
(c) Muscle strength

(d) Bed sore
71. Dilation of pupil known as

(d) Osteogenesis imperfect (a) Myotics (b) Nefantic
61. “OTERST” SU—aediel fod R @ afefa (c) Mydriatrics (d) Myldiasis

Tl B? 72,@@#31’[?7’5’[%@?{6’?7{67\’?11??

(a) TG (b) XaT! (a) ST (b) MLA

(c) R (d) ¥ard (c) roaaTe (d) T w=h
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(a) ST H O TR IS—9S B & | (c) WM (AIHT) CINERGIRIES)

(b) w1 @I @ il 7 A S f 85. Betamethasone is wused to premature
(c) SR BT T 52 T BT o | newborn for the purpose of
(d) <= uRaR # |9 ¥9H 8 B | ‘ (a) To prevent jaundice
74. AT eqterr (F[\]%RJT) CABNEIRIE G XA Far (b) To mature the lungs
&? {9)-To.protect liver

(d) To prevent bleeding

(a) CUSO47H20 (b) CUSO45H20 )
: 86. BRATIT WHR &1 Tad wdl=a (wifey)

(C) CUSOq 4H20

balance is
(a) Eye
(c) Mouth

(a) Dry corne
)
(b) Dry conjutictiva ;
(é)ﬁiﬁ?%“ﬁmkspots On conjunctiva®=
) Li [ ofcornea

N
82.The disease), subject
Regulation is%\

(a) Polio \\ (b) Malaria
(c) Viral influenza . (d) Plague

83. The vision fully mature at the age of
(a) 6-7 year (b) At birth
(c) 6 month (d) 1to 2 year
84.3T5M1d el v Ry FEl wR 8?
(a) SRR (RzraTe) (b) H=eh (AIiua)
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